
Summary:

This file was created to check simple dynamic response models in FEA.
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N
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m1 rho1 area1 x1 0.5 kg m2 rho2 area2 x2 1 kg

Some of the FEA models use a continous mass matrix, while others
use point masses. You can switch the positions of the M3 matrix, to
match the given situation.
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Where:

First element has near zero mass
or is a spring element
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freq eigenvals A1 
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Sorting eigenvalues and eigenvectors (from lowest to highest):
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Note; genvals, genvecs, and eigenvec can fail sometimes. Whereas, eigenvals and eigenvecs always seem to give the
correct result, in my testing.


